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Tick the best answer,

|A]. Read the given passage and do the tasks that follow.
Who do you think is the most successful? Who do you think is the least successful? In order to answer
these questions, we first need to define success. Everyone has a different definition. Many of us place
great value on reaching various goals. Others associate success with material goods, measuring it by
how much one can get. Others measure success by how much they can give to their families or the
community. There are many other definitions, but mostly, success is related to becoming rich, famous,
and respected at work. Yet, it doesn't have to be that way.
Being successful could mean simply being satisfied with oneself and one’s career. For many people, a
successful person is someone who feels that his or her work and life offer a high degree of success.
But how does one get from here to there? How does one reach his feeling of satisfaction with life and
carcer? Successful people do two things: they use their abilities in their work and they set career goals.
In other words, successful people choose carcers where they can use their abilities. For
example, successful teachers are people who know how to help people learn, and the best doctors are
those who know how to listen to people. Successful pupils know where they are starting from and what
direction they want to give their lives, even if it is as simple as raising a happy family.

What do the words in bold in the following sentences from the text mean? Choose the correct option.

5x1=5)
1. Many of us place great value on reaching various goals.

i. give ii. Take iii. understand iv. help
2. Success is related to becoming rich, famous, and respected at work.

i. not being able to achieve something ii. losing something

11. being able to achieve something iv. being able to play
3. How does one reach his feeling of satisfaction with life and career?

1. duty ii. Job iii. richness iv. poverty
4. They use their abilities in their work and they set career goals.

i. determine ii. know iii. learn iv. unknown
5. It is simple as raising a happy family.

i. collecting ii. bringing up iii, lifting iv. riding

|B] Choose the best alternative. (15x 1= 15)
6)  She shut the door, ....... ?

a. don't she b. didn't she c. haven't she d. doesn't she
;I | here for 10 years,
a. were working b. had work c. have been working d. are working
8) Theygotme.............. a letter
a. to write b. write c. written d. none of them
9)  Ifhe had worked hard, he ................ the exams,
a. would pass b. will pass c. passé d. would have passed.
10) Listen! Someone .................... for help.
a. shouts b. has shouted ¢ . shouted d. is shouting.
11) Mt Everestis........ highest peak in the world,
a a b. an ¢, the d. no article
12) heisfond......... listening to music.
a. for b. of c. at d. in
13) I, as well as my friends, ............ going abroad.,
a. is b. are c.am d. was
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14) He has not completed his work ............
a. yet b. already c. always d. none of them
15) Somebody ....oovvvvvnnnn. outside for you.
a. wait b, waiting c. is waiting d. none of them
16) The passive form of 'Shut the door.'is .........
a. The door was shut b. Let the door be shut
¢. Be the door shut d. The door must be shut.
17) Heenquiredifl......... his father.
a. were b. was C. am d. are
18) fomndo .......... you can.
a. why b. which ¢. what d. who
| TR R — of cattle is grazing.
a. group b. pride ¢. herd d. pack
20) Ram, do the homework ..........cceevvvne
a. himself b. his self
c. yourself d. yourselves '
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. What is the volume of a cylinder with diameter © cm and height # cm? (1w 3.7, =g 7 n &.f7. =3
AOH  AFAATH AATH FA §H)
a. 2/8cm? b. m2/2cm? c. % /4cm? d. m/4cm?

2. The sum of two numbers is 26 and the product of number is 69. The numbers are: (afz 3% #rer
HEETH! FEHA % T OEES &R G 94, & gE@es g1.)

a. 12 and 13 b. 14 and 9 c.9and 17 d. 3 and 23
@3, 64 is 2/7 of which number?(F7 Fem®l R / 8 IS ¥ T57)
a.224 b. 196 c. 336 d. 162

v¥. The ratio of side of a triangle are 3:4:5 and its perimeter is 24cm ,what is the length of

the longest side? (T2 P! Yoeead! TrTSesdl dqard 3 ¥4 T GRFAfa ¥ & 99, Faww=T =y |

{SATHl FHETE FA 575 )
a.4 cm b.5cm c. 8cm d. 10 cm

ey In a rectangle, length =4 cm and breadth = 3cm then its diagonal ? (afz wger sraas @
¥ Ffqz e 3 W g v fawl #fa g )

a. 9cm b. 8 cm c. 2cm d. S5cm
wt. The intersection of the sets { 1,2,5} and {1,2,6} is the ser........ ) @ { 1,2,5} T {1,2,6} i
Si=ded T ...
a. {1,2} b. (5.6} . {1.2,5,6} d. {2,5}
\99. A sum of money at simple interest amounts to Rs 815 in 3 years and to Rs 854 in 4 years. The sum
is. & THEHBT 3 A9 T ¥ qUST HHUT FHE T oq% T T.5U¥ HU I TFH . Sl
a. Rs 650 b. 690 c. 698 d. 700

5. A book is sold for a profit of 40%. if the cost price of the book is Rs 25 ,find its selling price .
(@321 fefrret % 0% AT aAfer, 3f forararsht o Hew ® [ o Twen! fira e Peegeran)
a. Rs 28 b. Rs 30 c.Rs 32 d. 35
\9%. If the population of a municipality increases by 2% by birth and 3% by immigration every year,
what is the rate of growth population? (32 F TRYTfCTRTERT TTHEAT T T4 TR HATURAT %X
SRIGETTF] SATIRHT 3 % W 5D ¥, SHEEAT 3G T H §70 2)
a. 5% b) 6% c) 10% d) 4%

5O. The roots of the quadratic equation X 2_5x+6=0 are.... (wt wftveror x2-5x+6=0 T {EAEE......)
a) 2,3 b) -2, -3 C)2,-3 d)-2,3
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Subject : Account & Economics

Who is the father of accounting? (@@remaa frar s wwerd fafis )
) Wewd (Malthus) (@) &1 SREaTeR (luca de pecioli) (M) HF4 (kebing) (1) @3% far (Adam Smith)
~ When was Nepal bank limited established? (Yuret Fxfafirdaa womm Ffeet wot forit )
() R0l FRF 30 @-zotuFftEy  m) ARy 30 () %340 Fifd 34
1 What is Journal ? (S9e YRR F &1 ?)
(@) Trial balance Report mﬁmwﬁmnﬁ%aq)
(1d) Transaction entry in primary books (ﬂﬂﬂm‘(éﬁ v wfaw)
() Final summary (37f< &)
(1) Ledger Account (@Tﬂﬁﬁm
.4 Which is the budget Head No. of Employee Remuneration? (et qrfefirraht F9ie fird Te F9 8 7)
#) “%%%o (@) 3w (M 1LY () 2283
<< What is the Rules of Real account? ( &y @ fram & 8 ?)
- () Debit the Receiver, Credit the Giver.
(@) Debit What Comes In, Credit what goes Out.
(M) Debit the expenses and losses, Credit the incomes and gains.
(&) All of above.
36. What do you mean by expenses?) @ Y& # &l ?

(F) Assets purchase (F9Ifd @iE)
(@) Increase of liabilities GRS TE)
() Decrease in income (3719 9&J)
() cost incurred in earning Revenue (TS SATSHHT AT S7d)
87. How many types of notes are issued by Nepal Rastra Baink ? (YUTeT U SergT01 Ffl STt AE SIHI TCH © ?2)
F) R @) %o (m 2 (=) &R
88. Dishonored of Cheque mean's... )3TE1dd e W=Tdl...
(%) Cheque stale dated (HTS HiHTHT ﬁfm")
(@) Cheque paid by bank Returned unpaid (i'uw ’ﬂ?ﬁmﬁ?ﬁﬂﬁ Tgmfiest =4 fhat )
() Cheque post-dated (‘Ef fiafaart =)
(9) Cheque lost (3% BUH)
89. What is accounting? (S@T $4F1 % 21 7)

A. Only recording of transactions B. Recording, classifying and summarizing of financial transactions

C. Preparing final accounts only D. Preparing budget only
90. Which of the following is a real account ? (dETEHEA F AT (e @rdl &1 ?)
A. Capital Account (i’w‘:ﬂ @rdn) B. Sales Account (ﬁ'ﬁ grdr)
C. Cash Account (9715 @rdT) D. Rent Account (MTST @TdT)
91. Debit what comes in and credit what goes out is the rule of:  ("3{T3Ts 2feE T, RTS8 T W= fam A
QAT AV 55 ?)
A Personal Account (AftTd @rar) B. Real Account (STeifeh @)
C. Nominal Account (aTefa @rar) D. Suspense Account (33Tl @rdn)
92. Which document is used to record transactions in the journal? (ST FRIER &at T F HRTSIT ST TR 2)
A. Ledger (€i9%) B. Trial Balance( TO& §e)
C. Source Document (& FITTSIT) D, Balance Sheet (ATHTA)
93. Which-of the following is a nominal account? (AT A SaTfas @rar & 2)
A. Building Account (99 @rdr) B, Salary Account ( ¢S @rdT)

C. Bank Account (&% @ra) D. Cash Account (7Tg @TdT)
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A
04. 1edger is prepared from: (SIS Ferare TR THES ?) g
@)

A. Trial Balance (¥~{cHH yfieqor) B. Journal (e -
C. Balance Sheet) (H=fefH 9) D. Profit and Loss Account (! 16T @TdT) °]
95. Capital introduced by the owner is recorded as: (ﬂﬂﬂﬁ anrt da Faht Afas ?7)
A. Expense @) B. Income (3T=Tt)

C. Liability (&) D. Capital ( §f)
96. Which of the following is not a feature of accounting?  ( @ yurredien! fagrgar Tﬂ@@ a7
A. Systematic recording (cTaftra é@ﬁﬁ@l) B. Legal evidence (ETITﬁ YHTOT)
C. Guesswork (37HH) D. Communication of results (CIﬁIUTTqEﬁ o)
97. What is the main objective of preparing a trial balance? (W= qﬁwmg@ﬁw F2?)
A. To find out profit or loss (ATHT mmwm
B. To find out the financial position (MT%WWW)
C. To check the arithmetical accuracy of accounts (Sr@reh! T {Wqﬁ )
D. To prepare journal (SH T IH)
98. Which one is not a type of subsidiary book? (qeme F THh ETIE KR 7)
A. Purchase Book (Gftg @) B. Sales Book (fsifss @rar)
C. Cash Book (12 foam) - D. Ledger (9iR)
99. What is cash book ? (772 farama & 21 2)
A. Journal and Ledger (4@ {T@9gd)  B. Only Journal (et SHeT)

C. Only Ledger (&3¢ Tsi) D. Trial Balance (T{&I0T H=Iei) N
100. Which account is debited when rent is paid? (TS fa=i % @rar fere 1fes 2) !

A. Rent Account (HTST @Tdl) B. Cash Account (37 @rdr)

C. Capital Account (EI:T:ﬁ @rdn) D. Sales Account (fsrsht @)
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